SALCOLLEGE

HALTF YEARLY EXAMINATION
®.Com 2 VEAR,
SUBIECT: COMPANY LAW

TIME : 3 hrs M.M.: 75 MARKS

EACH QUESTION CARRIES ARK

UNIT 01

Attempt any two questions :-

1) What do you mean by Company ? Discuss the various kinds of company ??
FIAT F AT FAT THAQ & ? AT 6 (A wahry ¥ = Fiforr |

2) Who is Promoter ? explain the legal positions of promoters ? what are their
liabilities towards company ?
YadF B & 2 Tadht $iF Jeiaen Rafa 6 srer fiford 2 Fot F ufy
IGF T T g Ig ATV 2

3) What is meant by Incorporation of Company ? Describe the process of
incorporation of company ?

FAAT &5 FATHATRT FAT AT 2 AT 5 GHTHATRT TIHRAT FT FUT HT

UNIT 02
Attempt any two questions :-

1) What do you mean by Prospectus of a company ? what particulars are
given in company’s Prospectus ?

HOAT 6 TGN & ST FAT qHAS § 2 AT 3 T F 7 47 fFaw

faU STa § =R ?
2) Define:
faeqa fiford
a) MOA ( 9T¥T ErTfaaw )
b) AOA ( uT¥T sfafiaw)



3) What is a Share ? describe the various types of shares that can be issued by

a company ?
stor A gy & 2 avrefY FRARYe waTe 3 Sy afer ST A et & AT A0
o ?

UNIT 03

Attempt any one questions :-

1) Explain the difference between mortgage and charge ?
qUF TF THIR | (A qqT27 ?
2) Describe the powers and duties of director of a company ?

T AT & FATAR & STIAHIL T Fcodl T qU oy |



(5) Why is the method of plastic surgery known as Hindu

method ?
Unit-2

2.(a) Read the following passage carefully and answer the

questions given below : 15
Speech is a great blessing, but it is also a great curse.
B.Com. (Part-II) For. a while it helps us to ma!(e our intentions &
desires known to our fellows, it can also make our
Half yearly exam attitude completely misunderstood. A slip of the
(Foundation Course) tongue, the use of an unusual or ambiguous word,
Paper Second ENGLISH and so on may create an enemy where we had
LANGUAGE intended to win a friend. Different classes of people
Time : Three hours use different vocabularies and the ordinary speech of

Maximum Marks : 75

an educated man may strike an uneducated listener

Note: Attempt all questions. as showing pride. Unwillingly we may use a word

Unit-1 which bears a different meaning for a listener who
. . has a different class or background. Thus speech is a
Answer any three of the following questions : 30 gift which demands careful handling.
(1) Why have people invented computers ? Questions :
2) H(TW dot_:s an ordinary individual use the method of (1) Give a suitable title to the passage.
Science in his day to day life ? . .
. . (2) Why is speech a great blessing ?
(3) What was the immediate effect of atomic bombing in
Hiroshima ? (3) How can speech be a curse ?
9
(4) What happened when Ramanujan’s passion for (4) What can create. an enemy :
Mathematics gained on him ? How did he loose his (5) What can strike as showing pride to an
scholarship? uneducated man ?

ED-2022 ED-2022 [4]
(b) Give synonyms : (Any five) 5



(c)

(1) stream (2) disturbing (3)
blind (4) Harm (5) Cure
(6) Discase.

Give Antonyms : (Any five) §
(1) successful (2) advantage (3) rapid (4) whole
(§) true (6)
real.

Use the following words and phrases in your own

(d
sentences : (Any five) §
(1) Look for  (2) Imitate 3)

Sterilize
(4) Instead of (5) At last (6) Pollution.
Unit-3
3.Write reports on : 30

(1) A Blood Donation Camp organized by the NCC Unit
of your college.

(2) Covid-19 Pandemic spread in your state.

A3)

A road accident you have seen.



Sai Mahavidyalaya,Bhilai
Half Yearly Exam 2021-22
Class-B.Com.-ll

. untin
Subject- Cost Acco R Max. Marks-75

— - r . Arry equal marg «
Note-  Attempt any two questions from Unit-| & 1} Attempt one question from Unit-IILAII questions Carry equal mar,

Q1

Q.2

Q3

Q1

Unit-| .
. i Lon UFO 4n,
From the following information, prepare Stores Ledger Accounts showing the issues of N Materia and
Weighted Average methods separately and give the value of stock at the end oft??e penod e T
FrafoRee s@a X e N a ud wrar o wrygw e agfrat v aE-ae

\

@ fefs Ram gu N e wnd dar g o ol @ ot 3 W@ g R

October 1 Balance 500 units @ Rs 1 per unit .

10 Ordered 250 units by Purchase Order No. 91 and goods expected on 20" Oct.

18 Issued 125 units Req. No. 340 to Dept. X.

21 Received 150 units P.0. No. 91 @ Rs. 1.10 each.

25 Ordered 250 units P.0. No. 115 expected on 5" Nov.
Nov. 1 Issued 175 units Req. No. 350 to Dept. Y.

10 Received 200 units P.0. No. 115 @ Rs. 1.20 each

20 It was discovered that 5 units received on Oct. 21 P.0. No. 91 were defective and so

were retured to vendor.

December 1 Received 100 units being the balance of P.0. No. 91 @ Rs. 1.10 each.

15 Issued 100 units Req. No. 370 to Dept. Z.

20 Dept Z returned to Store Room 25 units, earlier issued on 15 December.

30 Issued 125 units Req. No. 380 to Dept. X.
XYZ company buys in lots of 500 boxes which is a 3 months supply. The cost per box is Rs. 125 and the ordering
costis Rs. 150. The inventory carrying cost is estimated at 20% of unit value
mﬁﬁsoo%aﬁa%wﬁmmﬁvhamaﬁaqﬁ%mﬁf%mm1256.%3%?
IR I B AW 150 ®. ¥ | VW TE AN ST o BT 20% AT & |
1. What is the total annual cost of the existing inventory policy?

T Y A B amria go afis o @ 22
2. How much money could be saved by employing the economic order quantity?
Tl s T @1 T v W et gag 2
“Cost Accounting is a branch of Financial Accounting and it has been evolved to do away the limitations of
financial accounting and to meet the needs of management.” Comment
'Wmﬁﬁaé@mﬁwwﬁmmﬁmmﬁmwmﬁ
ISR S BRI I 8 [ Ryt e |
Unit-ll

The following are the particulars given to you:
Standard Time: 10 hours; Time rate: Rs. 3 per hour

Prepare a comparative table under Halsey Scheme and Rowan scheme if time taken is 9 hours, 8 hours, 6 hours,
4 hours and 3 hours. The table should clearly show the amount of bonus payable, the amount of total wages and
labour cost per hour under the two methods. State at least one point of distinction between Halsey scheme and
Rowan scheme in the light of your calculations.



Standard time 1
10 hours

A Wy
Rate of wages Rs. 6 per hour
o 3 W
Dearness allowance Rs. 1 per

‘ S. 1 per hour
qEmE we
Actual time taken 8 hours

TRAR® T WY

Under the following system find out total wages:

m onforl @ i qe wogd s

(i) Time rate system
R gl

(i) Piece rate system
I R ughy

(i) Halsey plan

(iv) Rowan plan

NERIINEN

Discuss the various methods of allocating the works overhead charges. Give the relative merits and demerits of
each.

FREMT SURTE & faaeer @ fAfrs Rt o w9y e ¥ il o 7 @ @ R
IR |
Unit-lil

From the following information relating to the production of commodity ‘X’ you are required to ascertain:
X 9] & Sces ¥ wafda fFfoen el ¥ o s AR
(a) Value of Material Used
TP A BT e
(b) Cost of Production
SRICSRSINE
(c) Cost of Sales
ICECIRCIN]
(d) Net Profit, and
g o™
(e) Profit per Ton of Commodity

TG W (T T WA

Rs.

Purchase of Raw Materials 1,32,000
Hod! Al Bl Y
Carriage Inward
GINGRGIS

Rent, Rates & Insurance of Factory 44,000
Bt 1 e, R T@ A

Opening Stock of Raw Materials
Fe A B IRAS i
Opening Stock of Finished Goods (800 Ton) 17,600
IR A1 BT ARG KD

1,580

22,000



Q.2

R

, Closing Stock of Raw Materials 24,460

Fe T B 3 et
Closing Stock of Finished Goods (1,600 Ton) 35,200

TR AT 1 e wie

Work-in-Progress Opening 5,280

e P WRME

Work-in Progress closing 17,600

Y HY ifm

Sale of Finished goods 3,30,000

TR A &1 Ry

Cost of Factory Supervision 8,800
B AT

Direct Wages 1,10,000

BUE N

Discount allowed, advertisement and selling expenses amount to 75 paise per ton sold. 12,800 ton of
commodity were produced during the period.

ﬁa%wa;,ﬁwwaﬁ?ﬁaﬁmnWwﬁﬁﬁlwmﬁm,&ooamg&m

The management of manufacturing concern has approached the Costing Dept. to find out the cost of 3,000
units.

The cost analysis of 2,000 units gives the following results:

Materials Rs. 45,000; Labour Rs. 25,000; Direct Expenses Rs. 500; Factory Overheads Rs. 1,000; Administration
Overheads Rs. 800 and Selling and Distribution Overheads Rs. 400
The further details in this connection are follows:

Th il e %mﬁmﬁmﬁm#ma,ooomtﬁaﬁmma@%‘l2,ooo
SHRAN & A favenor § e gRomT 9o &

AT 45,000 %, 59 25000 %, AIE Y 500 %., BREMN IURAT 1,000 %, TeHIE IR 800
%. 7 A vd faaror SuRery 400 .l

¥ Y H A YT 39 THR -

(a) An increase of 10% is expected in the cost of raw materials and 5% in the cost of the labour.
Wﬁamaﬁw%ama%mﬁﬁs%q%aﬂaﬁm%l

(b) 70% of the factory overheads are fixed and 30% variable.
PR SURGY BT 70% Rer & 7 30% TRad=ieT |

(c) The ratio of fixed and variable expenses in administration overheads is 60:40
wmﬁmwﬁwuﬁﬁwawﬁaéﬁgﬁaaﬁfmﬁmmsomo

(d) Half of the selling and distribution overheads are fixed.

fasa vd faawor <@ @7 emem W e ¥

The management desires to charge 25% profit on the sale price. Ascertain selling price.

Waﬁmﬂqun%waﬁﬁmm%lﬁmmmﬁwml



Sai Mahavidyalaya,Bhilai
Half Yearly Exam 2021-22
Class-B.Com.-1I
Subject-Hindi

Max. Marks-75
\'7‘\.\_""‘ I ”“"“""’*"*“\
Ae—uAd guq 3 125 3fp 2

9.1

92

93

@)

@)

DI BT AN W Hf |
%@Wﬁwﬁw%mw|

Unit-lll

AT BT ¥ feaen @ &2 frfa |
3

oI
TR & S B 3 wWe A |
Wﬁmwmmaﬁm\

3rerar
ﬁs\maﬂqﬁmmmmv‘f%mml



Sai Mahavidyalaya,Bhilai

Half Yearly Exam 2021-22
Class-B.Com.(Part-ll)
Subject-Principle of Management
Max. Marks-75

from each unit & any one question from

Time-3 Hs.
Note-Attempt any two question
unit 3
Unit-I
1 What is Management? Explain management process & its
significance.
qey T 87 Uy @) yikar aun HEw @ &Rl &) |
2 Difference between the classification & Neo classical approach.
R gfaftsg aur Fa—Rr-wfafed & sfcv Ry |
3 What is various functional areas of Management?
qeT @ fharere &= B U ST |
Unit-Il
1 What is the concept of decision making. Write down the steps
involving in decision making.
Ayviae @ T Sy & | o § et IRl @ st & |
2 What is planning? Explain the various elemens & importance of
planning.
Rt @ar 27 399 R TeRT 0T JEw Bl Sl BT |
3 Write short notes on

feforRea o wiRe fewdft forar
()  MBO
S5ql §RT yee

(ii) Corporate planning

(i) Environment Analysis

qgfaRor faeryor
PTO



Unit-Ill
n & Decentralization.®f~gzepvor

Explain the term of centralizatio
AT A aeser o @ @i |

Define organization structure? Explain the various terms of
organization structure.

HTST & el B uRWRG SN aen sHe R geri @
NHEATRY |

4



Half Yearly Jan 2021-22
Subject- Relational DBMS
Class: B.COM2" year
Time: 3 Hour
Notes: Attempt any two question from each unit.

Unit-1
1. What are data models? Explain the different types of data
model. [10]

Explain generalization, specialization and aggregation in brief

(10]
What is database language? Explain DML, DDL, and DCL
commands with example. (10]

MM: 50

'k)

W

Unit-2
What is decomposition? What do you mean by lossy and loss-
less decomposition. [10]

What is a functional dependency? Explain the working of
Normalization with example. [10]

What are the different set operator’s uses in relational algebra?
Explain with example. [10]

1.
2.

3.

Unit-3
What is Normalization? What is difference between BCNF and
DKNF. [5]

Explain Functional dependencies with example. [5]

Describe the concept of transitive Dependency and explain how
this is used to define 3NF. [5]

(§9)

()



Sai Mahavidyalaya Sector 6, Bhilal
Half Yearly Examination (2021-22)
B.COM 2nd year
Buss. Statistics
Time - Three Hours. MM. 75

mwwwa#a-amammm#wmamm
1 W WAt ¥ 3w WA ¥1 Attempt any two questions from unit 1
and 2 and attempt any one question from unit 3. All questions
carry equal marks.

UNIT |

Q.1.Himﬁ£rqﬁwaﬁwammmmsﬁﬁmm|
ﬁmaﬁq‘am%iﬁwmmwml

Define statistics and discuss its characteristics. Write down the rules of sigma
operation with suitable example,

Q.z.mwmwm#mm@mﬁmmasm
%%ﬁmrﬂaﬁwaﬂaﬁﬁmlqﬁ?ﬁwméﬁm#mw
BERIERICCE )

Distinguish between primary and secondary data. Explain the various sources of

collecting secondary data. What precautions should be taken before using
secondary data ?

Q3. ffafag 3Teret & AT, ATl gor SgeIh AT HTIAT Calcylate

mean, median and mode from the following data:
oMoy -

Class -Interval 0-7, 7-14, 14-21, 21-28, 28-35, 35-42, 42-49



IR (Frequency) 19, 25, 36,72, 51, 43, 28

UNIT I

QL Q1 3URHT H THEC| HYRROT AT ¥ A 3eeT 33730
mﬁnmﬁmﬁas‘rﬂ-mm%ﬁra?%?#mﬁml

Explain the term Dispersion. Give the main objectives of measurement of

dispersion. What are the various methods measurement dispersions ? Briefly
describe.

Q-Z-mmﬁmmwmwm:
Compute the quartile deviation and coefficient of skewness of the following data
HATRR (Size) 4-8, 8-12, 12-16, 16-20, 20-24, 24-28, 28-32, 32-36, 36-40

HGfT (Frequency) 10, 18, 30, 15,12, 10, 6, 2

Q.3.ﬁmﬁ@am#mmmmmmm:

Compute standard deviation and coefficient of variation from the following data :

.

A% (Marks) 0-10, 10-20, 20-30, 30-40, 40-50

faeanfat & w&r (No. of Students) 6, 10,20,9,5
UNIT Il
Q1L XUF Y& AT el Aol 7 wgaeer IUIH AT HITAT: Calculate

Karl Pearson's correlation coefficient between X and Y:

X 58,43, 41,39, 43, 46, 43, 45, 41, 47, 45,44

Y 11, 27, 31, 42, 30, 28, 28, 20, 19, 20, 32,30

Q2. eI T HTUROT F FAETET| SO 3@ &Y #4t g &0
AT T FEEY # IR aaEy|

Explain the concept of regression. Why are there two regression lines ? Distinguish
between regression and correlation.



Sai Mahavidyalaya,Bhilai
Half Yearly Exam 2021-22
Class-B.Com.-Il

Subject- Corporate Account
Max. Marks-75

Note-

Q1

Q2

Attempt. any two questions from each Unit. All question carry equal
marks
Unit-1
Western Limited issued a prospectus offering 10,000 equity shares of Rs.
10 each at a par payable as follows:
On application and allotment Rs. 2; on first call Rs. 4 and on final call Rs.
4. Sameer , the holder of 500 equity shares did not pay the amount due
on both the calls. These 500 shares were forfeited by the Board of
Directors and of these 300 shares were subsequently reissued at Rs. 9 per
share. Pass Journal entries and also prepare opening Balance Sheet.
é?eé%ﬁé?#mamﬁw,ooomﬁrsﬁﬁmmﬁww
Wﬁmﬁ@mﬁ?ﬁammwwww
F 9l ST TUT e W 2 ©. U AR W 4 %, 3ARH
a1 | 4 %, | TR, 90 U 500 9T 379 O, @ Al
P <7 IR T T U | FAEEHvSe 3 39 500 3 BT BT DY
%mamifsﬁﬁéaoosfsﬁa‘rgﬁqﬁfamﬁgﬁﬁﬁ:faﬂ
ﬁmlaﬁamﬁmﬁwmmzﬁﬁm?ﬁﬁm
Pass the’ necessary Journal entries in the books of S.Ltd. the following
cases:
fFrfafaa eemel & wafa & gt § a3 e o
P .
(a) 6,000 9%, debentures of Rs. 100 each have been issued at par
and are redeemnable at par.
IIP 100 F. dTel 6,000, 9% FUIUF WH ey R g
fT 10 2 o gar e e w e o 8
(b) 8,000 7&, debentures of Rs. 100 each are issued at par and
redeemable at 10% premium.
Jd% 100 %. dTel 8,000, 7% FUTH T R frffag
fe 70 & iR e W 10% TR W far T 2
(c) 4,000 6%, debentures of Rs. 100 each have been issued at 6%
discount and are redeemnable at par.

Q4

YeId 100 F. ATA 4,000, 6% FTIA 6% TIE 0 s
fam M0 # oft7 z9@ TUA T T 5w e s

(d) 3,500 9%, debentures of Rs. 100 e3ch are issued 2t gz discount
and are redeemable at 5% premium.
YT 100 % AT 3500, 9% FUTIA 6% TN T Gt
fay T & AR gE aA 10% FEGAE T B = 2

(e) 5,000 9%, debentures of Rs. 100 each are issued 3t 10% gre
and are redeemab[e at par. L
UAF 100 F. a7 5000, 9% FUTTF 10% HEEH T S =
ﬁﬁvﬂvéaﬁmmw?mwﬁm. 2

Q.3 How are debentures paid? What is Sinking Fund? How and why
sinking fund account is prepared? o
T AeE 2 | T2 69 Uer A% 727 a=741 -

Unit-Il
Following is the Balance Sheet of B Ltd.

B fo1. @1 fifea faeer &

Rs. Rs.
Capital 2,50,000 Building 1,50,000
bS] a4
Creditors 30,000 Furniture 50,000
TER FAER
Bank overdraft ' 20,000 Debtors 60,000
Cash 40,000
s
Rs. . 3,00,000 Rs. 3,00,000.

The profit of B Ltd. For the last three years respectively are:

T AT 99 B B A B AT e Py £

Rs. 50,000; Rs. 60,000 and Rs. 70,000

Assets are valued as under:

TR BT q i 9 geR far a7

Building Rs. 1,80,000; Furniture Rs. 40,000; Debtors at book value.
Normal rate of return is 15% p.a. Use only capital employed and find out
goodwill by capitalization method.



Qs

Q.6

I 1,80,000 . weifeg 40,000 . TTGR TH-HeA | WHRYT IR
EﬁaVu%uﬁiaﬁ%l‘Fﬁmﬁﬂmwﬁﬁvﬁrﬁﬂﬂml
I3 AR TN B & amyr wifg

Balance Sheets as on 31-3-2000, of Abha & Abhishek Ltd:

31 mézoogaﬁenmwslﬁwmaﬂﬁuﬁﬁaw:

Abha  Abhishek

Abha  Abhishek
I I I B o)
Rs. Rs Rs. Rs.

ShareACapital @Rs.1 50,000 20,000 Fixed Assets 25,000 20,000

T SN Ol . 4

Creditors 3,000 2,000 Goodwill - - 2,000

SqHT

Bills Payable 2,000 1,000 Current Assets 26,000 3,000
R .

P.& L A/c 5,000 2,000 Share of 6,000 -
Abhishek
Rs.2,000

FTH—BT oRar AN for.
BT Y
2,000 .

Rs. 60,000 25,000 Rs. 60,000 25,000

Valuation of fixed assets of Abha and Abhishek Ltd. Is Rs. 40,000 and

25, 000 respectively. Value of Goodwill is all. Find out the value of shares
of both the companies to assets valuation method.

I A D A B e WORR @1 i 40,000
BT 25000 ®. H fbAr W @y w1 e I & [y
qeaie fafer & <F1 Fufval & ofel @ g w9 AR
Describe the concept of good will and explain the various methods of its
evaluation.

ST B RO FT a0 ARG R 398 et B Rk
fafery &1 e Fif?

Q7

Unit-1ll
The Balance Sheet of Suchil Ltd. As on 31-12-2008 was as follows:

el for. @ freer 31.12.2008 &1 fFA=ferRaa o

P

Rs. Rs.

Share Capital: Land & Building 25,000 *.
8,000 Preference .
shares of Rs. 10 each 80,000 Other Fixed Assets 2,00,000
12,000 Equity shares  1,20,000 Stock 5,25,000 -
of Rs. 10 each -
Bank Loan 4,00,000 Debtors 1,00,000
8% Debentures 1,00,000 Profit and Loss A/c 58,000
Interest Outstanding 8,000
on Debentures
Creditors 2,00,000

Rs. 9,08,000 Rs. 9,08,000

The company went into liquidation on that date. Prepare Liquidator’s

Final Statement of Account after taking into account the following:

(i) Liquid’ation expense and liquidator’s remuneration amounted to
Rs. 3,000 and Rs. 10,000 respectively (i) Bank loan was secured
by pledge of stock (iii) Debentures and interest thereon are
secured by a floating charge on all assets; (iv) Fixed Assets were
realized at book values and current assets at 80% of book values.

T T a0 &1 T gan P @1 e ¥ R PeaRs

BT o faaRer @rr 9erE T .

(1) FeReT 2 ok FPraRe &1 TR B 3000 . 3R

10000 ® ® () 98 % R wie R w@ fmm @ 2 ()

FOUSET 4 3T W AN B R el WoRnt ® oad iR 2 ()

W] HURRT TR e W AR A ke e e o

80% W TG Bl TE B



Q.8

Q.9

The American Transport Company Ltd. (in voluntary liquidation) has paid
off its creditors in full and liquidator is in a position to make a return to
the shareholders. The position is as follows:Share Capital issued:100
preference Shares of Rs. 10 each(fully paid); 300 Equity Shares of Rs. 10
each (fully paid); 400 Equity Share of Rs. 10 each ( Rs. 8 paid); the Articles
of the Company provide that preference shares shall have priority overy
the equity shares as to repayment of capital. The cost of liqudation is Rs.
140. Creditors amount to Rs. 2,225. The assets realized Rs. 3,7440. A call
of Rs. 2 per share on the partly paid equty shares was duly paid except in
case of one shareholder owning 100 shares-Prepare Liquidator’s Final

Statement of Account.

mﬁwmmﬁ(ﬁﬁmwﬁﬁ)mwm
B Ul A ax e € iR e sieenRal o it der
a%ﬁﬂf‘?‘fﬁ%lﬁaﬁﬁmmézﬁ?ﬁamtﬁ: 100
W@wr@ramm?smﬁ(zvhﬁ)soowammﬁm
(qofex) 400 FHaT 3T 10 . AT ([T-D W 8 . bl fhaT 7T
g), qﬁiaaﬁaﬂ#a% gaifreR el & FHaT AW D

qoE T | Yol qIrde %rqqgﬁwwélﬁmwzﬁcuumo
®. B ?\F!ET\’ 2225 ®. P ©| FHRME W 3740 ®. IG V|

Wwﬁw%& afent R Ui 3 2 %, DI ISl DI

Wlwﬁmﬁwgﬁ?ﬁwa‘rmﬁ R U TR | oD
g/ 100 ST O gHHI WAAHE T A g1 FEre @ sifH

fIavoT g1aT §918U |

Explain the Liquidator’s final statement of accounts.

foreRe @ sifaw @ or@T faaver 1 FHsey |




Sai Mahavidalay sector 06 Bhia
Half yearly exammation
Becom lind year(2021-21)
Subject-Entrepreneurship and small business
Note : Attempt any five question Each question carry equal marks
Time:3:00 Hrs. MM 75
Unit 01
Q1 ST | F7 319 & IS Wi sl F At ssFiggm S © F EEE
Q1. What is meant by entrepreneur discuss the main characteristics and theories ?

U2 I S Qe § amie anffe wfu s arem s daud av=353 1>

Q2. Describe in brief the role of socio-economic environment in the development of entreprameursn o °

T 3 I DI YRV WY ST T $HD Hed B [ga=11 D190

Q3. Explain the concept of entrepreneurship and discuss the importance of entreprensurshic.
Unit 02

T4, S(GER] & [ARA0T I T 1R § AT AW & AR S SRS ac 2505 =0

Q4. What is meant by opportunity analysis what are the sources of business opportunity anaivss.
Describe.?

Ts. 831 UaTaruig faayur 7 § STedl TuiaRuiy faxaut el S19au d sua Siee e

Q5. What is external environmental analysis describe in brief the external environmentz! anaivsis
techniques.?

Unit03

6. TR YT ITH! 1 3% T 3 G b T 7 Ty § TV ST TE RS
faaReRTST &1 HaT & qui Hifee

Q6 Explain the relationship of innovation and entrepreneur describe in brief the main psychological
theories.



SAI COLLEGE, SECTOR-6, BHILAI
BSc (PART IT) HALF YEARLY EXAMINATION 2021-22
PAPER-1 INTERNET APPLICATION AND E-COMMERCE

[TIME : THREE HOURS] [MM: 50]
NOTE : Attempt any 2 part from each unit. In unit 3 attempt any 1 part. All questions carry equal marks

UNIT-I

Explain in brief the history of internet and its application.

1.
2. What is DNS? explain the working of DNS.
3. Describe about WWW.
UNIT-II
4. What do you mean by tag? what are its types?
5. Describe the structure of home page.
6. Write the step by step procedure to viewing and downloading of source of web page
‘ UNIT-IIT
7. Explain the following with suitable example:

| b) Img element b) Hyper text anchor
Describe the HTML form and forth tag.
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